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QUESTION 1

Which LSA type does an OSPF ABR use to advertise external routes generated by an NSSAASBR into the backbone?
A. Type 5

B. Type 7

C.Type 3

D. Type 1

Correct Answer: C

QUESTION 2

LSI1 A AS 65501 ISPB AS 65502 Advertised Prefixes: 172.20.0.0/24 172.20.20.0/24 172.20.21.0/24 Advertised
Prefixes: 172.20.0.0/24 172.20.1.0/24
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Referring to the exhibit, which two statements are correct? (Choose two.)

A. Devices in AS 65512 will prefer ISP A for traffic destined to the 172.20.21.0/24 network.
B. Devices In AS 65512 will prefer ISP A for traffic destined to the 172.20.0.0/24 network.
C. Devices in AS 65512 will prefer ISP B for traffic destined to the 172.20.21.0/24 network.
D. Devices In AS 65512 will prefer ISP B for traffic destined to the 172.20.0.0/24 network.

Correct Answer: C

QUESTION 3
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Exhibit
[edit]
serfrocuters show interfaces ge-(
unit O |
family bridge {
interface=-mode trunk:
vlian=-id=list ldi=-12{
|
[edit]
userf@router# show interfaces ge-0/0
flexible-vlan-tagging;
nnie 0 |
vlan-id 200;
family bridas |
interface-mode trunk;
inner-ylan-1d-14se 101-120;
edit]
szerfrouterd show bridge-domains
adit]
serfrouterd show bridge-domailns
3l |
vlan-id-11

gt 1Ul=12

Referring to the exhibit, which two statements are correct? (Choose two.)

A. Traffic ingressing ge-0/0/0 that is tagged with VLAN 101 will egress ge-0/0/1 unchanged.

B. Traffic ingressing ge-0/0/0 that is tagged will VLAN 100 will be dropped.

C. Traffic ingressing ge0/0/0 that Is tagged with VLAN 200 will egress ge-0/0/1 with an outer VLAN tag of 200.

D. Traffic ingressing ge-0/0/0 that is tagged with VLAN 101 will egress ge-0/0M with an outer VLAN tag of 200.
Correct Answer: AB

QUESTION 4

You are adding an IPv6 configuration to an Interface on a Junos device.

In this scenario, which statement is correct?

A. The link local address must be manually configured within the fdOO::/8 prefix range.

B. The link local address must be manually configured within the fe80::/10 prefix range.

C. The link local address is automatically created using the MAC address within the fe80::\\'I0 prefix range.
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D. The link local address is automatically created using the MAC address within the fd00::/8 prefix range.

Correct Answer: D

QUESTION 5
How does a Junos device learn about MAC addresses when Il is first connected to an Ethernet LAN?

A. The device sends out a network broadcast message asking tor all devices and MAC addresses on the network and
stores this information In addition lo the interface from which the response was received.

B. The device learns the destination MAC addresses from traffic in the network and stores this MAC address in addition
to the interface from which the traffic was received.

C. The device learns the source MAC addresses from traffic in the network and stores this MAC address in addition to
the interface from which the traffic was received.

D. The device sends out a network multicast message asking for all devices and MAC addresses on the network and
stores this Information in addition to the interface from which the response was received.

Correct Answer: D
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